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There is an error in the statement of the main result of the article [2], namely the Theorem 2.1 (the error concerns only the
case r ∈]2,p]). In this erratum, we give the correct statement of this theorem, and also of Proposition 5.1 of [2], which is
the main step to prove the theorem. We also correct some typos in our Corollary 2.1.

We first recall the notations.
Let (ξi)i∈N denote a sequence of martingale differences in L

2, with respect to the increasing filtration (Fi )i∈N. Let
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where Ei (·) = E(·|Fi ). Let also, for r ∈]0,p],

Ln(p, r, aδn) =
n∑

�=2

U�,n(p)

(Vn − V�−1 + a2δ2
n)

(p−r)/2

and

ψn(t) = sup
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2
k , |ξk|3)

σ 2
k

.

When p ∈]2,3] note that

ψn(t) ≤ (tδn)
3−p sup

1≤k≤n

E(|ξk|p)

σ 2
k

.

Recall that, for r > 0, ζr (μ, ν) (resp. Wr(μ,ν)) is the Zolotarev (resp. Wasserstein) distance of order r between two
probability measures μ,ν (as defined for instance in Section 1 of [2]).

The correct statement of Theorem 2.1 in [2] is the following:

Theorem 0.1. Let p ∈]2,3] and r ∈]0,p].
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